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|   |   |   |   |   | Q |   |   | 
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Found solution #53 

|   |   |   |   | Q |   |   |   | 

|   | Q |   |   |   |   |   |   | 

|   |   |   |   |   |   |   | Q | 

| Q |   |   |   |   |   |   |   | 

|   |   |   | Q |   |   |   |   | 
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Found solution #54 
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|   |   | Q |   |   |   |   |   | 

| Q |   |   |   |   |   |   |   | 

|   |   |   |   |   | Q |   |   | 
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Found solution #55 
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Found solution #56 
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|   |   | Q |   |   |   |   |   | 

|   |   |   |   |   |   |   | Q | 

|   |   |   | Q |   |   |   |   | 

|   |   |   |   |   |   | Q |   | 

| Q |   |   |   |   |   |   |   | 
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Found solution #57 
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|   |   |   |   |   |   | Q |   | 
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Found solution #58 
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|   |   |   |   |   |   | Q |   | 
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Found solution #59 
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|   |   |   | Q |   |   |   |   | 

|   |   |   |   |   |   |   | Q | 

| Q |   |   |   |   |   |   |   | 
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Found solution #60 
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|   |   |   |   |   |   | Q |   | 

|   | Q |   |   |   |   |   |   | 

|   |   |   |   |   | Q |   |   | 
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Found solution #61 
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| Q |   |   |   |   |   |   |   | 

|   |   |   |   |   |   |   | Q | 
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Found solution #62 
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Found solution #63 

|   |   |   |   | Q |   |   |   | 

|   |   |   |   |   |   |   | Q | 

|   |   |   | Q |   |   |   |   | 

| Q |   |   |   |   |   |   |   | 

|   |   | Q |   |   |   |   |   | 

|   |   |   |   |   | Q |   |   | 
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Found solution #64 
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Solutions stating in Column 5 

Found solution #65 
|   |   |   |   |   | Q |   |   | 

| Q |   |   |   |   |   |   |   | 

|   |   |   |   | Q |   |   |   | 

|   | Q |   |   |   |   |   |   | 

|   |   |   |   |   |   |   | Q | 

|   |   | Q |   |   |   |   |   | 
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Found solution #66 
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|   |   | Q |   |   |   |   |   | 
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|   | Q |   |   |   |   |   |   | 
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Found solution #68 
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| Q |   |   |   |   |   |   |   | 

|   |   |   |   |   |   | Q |   | 

|   |   |   |   | Q |   |   |   | 

|   |   |   |   |   |   |   | Q | 

|   | Q |   |   |   |   |   |   | 

|   |   |   | Q |   |   |   |   | 

 

Found solution #69 

|   |   |   |   |   | Q |   |   | 

|   |   | Q |   |   |   |   |   | 
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|   |   |   |   |   |   |   | Q | 
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Found solution #71 
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|   |   |   |   |   | Q |   |   | 

|   |   | Q |   |   |   |   |   | 
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|   |   |   |   |   |   | Q |   | 
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|   |   |   |   | Q |   |   |   | 

 

  



Found solution #74 
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Found solution #75 
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Found solution #76 

|   |   |   |   |   | Q |   |   | 

|   |   |   | Q |   |   |   |   | 

| Q |   |   |   |   |   |   |   | 
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Solutions stating in Column 6 
 

Found solution #81 
|   |   |   |   |   |   | Q |   | 

| Q |   |   |   |   |   |   |   | 

|   |   | Q |   |   |   |   |   | 

|   |   |   |   |   |   |   | Q | 

|   |   |   |   |   | Q |   |   | 
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Solutions stating in Column 7 

Found solution #89 
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